Queston 1 Every abelian group is:

T
Mo 100 e a. Net cyclic
b. Norewv
c. Finite
d. cycic

The comect answe is: None

Number of elements of (Zag, +20, X 20) of order 4 is:

Mo 1 00 0ut 3

a0 oo
&

The comect answer is: 2

Quesion 3 The order of 6 in (Za9, +20, X20) Is:
rEm
S a 16

5 10
x c Bx

a1

The comect answer i 10

— All generators of (Zag, +29) are:
reorect
Moxoma o Evens

b. Nore

= c. oo
d. Primes
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Number of generators of (Zyg, +10) Is:

a
b.
c.
a.

. Fourw

. One

Two

Three

The comect answer is: Four

Every cyclic group of finite order has :

. ©ad rumber of generators

Even number of generators
Atleast two generators X

Nore

The comect answer Is: None

Every element of any cyclic group is :

oo

Qa

Nore

Hos infinite order

. Hos firite order x

Agensrator

The comect answer is: None

Every infinite cyclic group has :

a.
b.

o

a

. Nore

Exactly two generators v
One generator
More than two generators

The comect answer Is: Exacty two gensrators
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Queséon ¥ The number of generators of the subgroups of (Zag, +20, X20) of

T order 10 s :
Mar 1.00 ot
of 1.00
Ea a1
- b. 10
c. 4v
d 3

The comect answer is: 4

N Number of subgroups of (Z3g, +, x ) is:

Comect
Mark 1.00 out a8
of 1.00
v rog b 8v
& S ]
d 4

The comect answer is: 8
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Let G=<a> be cyclic of order 24:
A) Find all subgroups of G.

B) Find order of a*, a’, a'>.

C) Find all generators of G.

D) Find all elements of order 8.

E) Find all subgroups of order 8.

F)If H < G of order 8, find all generators of H.
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Let G=<a> be cyclic of order 30:
A) Find all subgroups of G.
B) Find order of a”, .0,
C) Find all generators of G.
D) Find all elements of order 10.

E) Find all subgroups of order 10.

F)if H < G of order 10, find all generators of H.
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